FIRGBABMOBAMEMERERR (2015F18 SHIRE)

A B4 Eh try 134 3 L137 FERDAE BEB
ELLA EFE 5.4 3.59 A 1H6H
1HA8H(K) |KBREE L 6.8 3.53 s 1A68
A il 7.39 TR H (3.30% ) s 1A6H
BKRCER =EER T (3.90%K ) & (3.34K ) Gz 1A78
AS FER 6.47 &EH (3.35%K ) s 1878
1H9H8 (£)
=Ed I 5 TEH (3.92k ) T (3.35K ) G 1A78
7K B K AJIET 45 4.45 5 1A7H
BEERK =ER T (3.92k ) T (3.35%K ) =M 1A8H8
£4L LU T (3.92k ) &EH (3.35%K ) = 1A8H
18138 ()
h&E L TaH (3.91K ) TR (3.34K ) =M 1A8H8
KiR HE)I|E AR H (3.93kKH) & (3.36K ) s 1H8H
B=HEH BEFE & H (3.90K ) EH (3.32k ) =R 1A98
1A1480K) (A% 31 T (3.92K ) &EH (3.34K ) s 198
YAZ AETH & H (3.90%K ) T H (3.33%K#) =R 1H13H
KR HEJNE T (3.90% ) &EH (3.32k ) = 18138
1A15B(K) [R—a> ERNE & H (3.90% ) T (3.33kKE) s 18138
K&K A JIET IR H (3.89kK ) EH (3.31FK7E) s 18138




BLLH =FR T (3.88KiH) TR (3.31K ) /4 1H16H
1A16B(£) |B% TRIR T (3.89K ) TR (3.32K ) =/ 1H16H
KB K BJIIET THEH (389K) | THRH (3.32K5H) % 18168
oL TG THEH (3.88K i) & (3.335K i) =/ 1A19H
1A198(A) (A3 FER Tt (3.895K ) THRH (3.345K ) =/ 1A198
FHRD AR THEH (3.89K ) THRH (3.34K i) =/ 1A198
BRCFER 2ER Tt (3.925K ) THRH (3.355R5H) st 1R168
1A20B(K) |B% TR & (3.93K ) & (3.36K ) /4 18168
KNIRETE At F& i (3.93K ) THRH (3.365R ) st 1R16R
L AR LT THEH (3.89K ) THEH (3.34K ) /4 1H19H
1A218 (K) |[X4R EEEINES F& it (3.885K ) F &t (3.33K ) % F 1A19H
BUEA T 4.48 4.99 =/ 18198
42 BER T &t (3.885K ) THRH (3.325R5) % F 18208
1A22B (K) [KZFEHR EER THEH (3.885K 1) TR (3.33K5H) =/ 1A20H
=S TRIL R T HEH (3.89K ) 4.19 =/ 1H20H
HLHL AR THEH (3.865K 1) Tt (3.325K ) st 1218
1A238 (&) (A3 FER T &t (3.885K ) THRH (3.345K ) & F 1A218
IKEIK A JIIET THEH (3.855K ) T (3.31KH) st 1218




BEO—X BER Tt (3.955K ) THEH (3.43K5H) {2 FA 1H228
1A268(R) [YAZ EHRE Tt (3.955K ) Fi&th (344K ) =/ 1A228
B3 FIhIR Tt (3.955K ) THRH (3.43K5H) % F 18228
BRCFEA BER THEH (3.92K ) THRH (3.40K i) =/ 18238
1A278(K) [H4L At Tt (3.925K ) THRH (3.405K ) % F 18238
KR EINIES THEH (3.935K5H) THEH (3.41K5H) =/ 1H23H
=k FIhIR Tt (3.87KH) THRH (3.385K ) % F 1H26R
1288 (K) |ELLA =FR THEH (3.86:K ) T (337K ) /4 1H26H
IKEIK A)IIET Tt (3.865K ) FHRH (337K ) =/ 1H26H
tL AR LT THEH (3.89K ) THEH (340K ) /4 1H27H
1A29H (K) [RIFEA 2ER Tt (3.905K ) THEH (3.40K ) =/ 1R27H
KR FER THEH (3.905K ) TR (3.41K5H) =/ 1R278
= ZIhIR F &t (3.90K ) THRH (340K ) % F 1H28R
1A30B (£) (A5 FER THEH (3.91KH) TR (3.41K5H) =/ 18288
IKEIK AJIlET THR (3.895K ) THRH (340K ) s 1R 28H




